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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
December, 2016 007065

ELECTIVE COURSE : ECONOMICS

EEC-006 : PATTERNS OF ECONOMIC
DEVELOPMENT : A COMPARATIVE STUDY

Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note : Attempt questions from each section as per instructions.

SECTION - A

Answer any two questions in about 500 words
each : 2x20=40

1. What are the characteristics of a dualistic
economy ? Discuss Boeke’s concept of social
dualism critically.

2.  What are the economic reasons for Japan’s
military defeat in the second world war ? How
did Japan finance its war time expenditure ?

3.  Whatare the policy options before less developed
countries according to Rosenstein-Rodan ? What
are the policy suggestions for less developed
countries ?
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4. Explain the term “centre”and “periphery” and
the relationship between them. How does the
dualism of centre - periphery operate externally
and internally ? What are its implications ?

SECTION - B

Answer any three questions in 250 words each :
3x10=30

5. What are the basic elements of Centralised
Planning ? Give a brief account of the debate on
Planning Versus Market ?

6.  Define the following terms :
(@) Net barter terms of trade
(b) Gross barter terms of trade

(c) Income terms of trade

7.  Explain the working of Lewis Model with the help
of suitable diagram.

8.  What is technological dualism ?

9.  What were the measures taken by the Russian
government to promote industrialisation in pre
war period ?
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SECTION - C
Attempt all questions in this section as directed :

10. Write short notes on any three in about 100 words
each : 3x5=15

(@) Economic growth and economic
development.

(b) Rice riots in Japan in 1918
(c) Social dualism_

(d) Cheap money policy

(e) Syndicalism

11. Briefly define any five of the following : 5x3=15
(a) Vesenkha
(b) Cartel

(c) Imperialism

(d) Unbalanced growth
(e) Semi-feudalism

() Indicative planning
(g) Samurai

(h) Wage goods
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10. YT 100 Vidl | ferdl it W dfara e faed | 3x5=15
(a) o wafg qen sufdis fawm
(b) 1918 % UM &% <A T
(c) wmEIfSEh gaar
(d) g%t ga1 Hfifa
(e) Ta<rheisH

11. frafaftea & 3 ferl ufer =t dfera s ;. 5x3=15
(a) 9@

b) A

¢) UHRIER

d) srgfera foshr

e) of-uHaER

(f) Wikfaw A

(g) VIR

(h) oGl

EEC-006 6



‘é.‘é.?ﬁ.—ooé

HIdeh ST iR
qAla e
feawr, 2016
e UreThy : AR
$3.4.-006 : enfefer faam@ & wET : TF qATHE
AT
gHg : 3 FU STfermaH 31 : 100
(IR : 70%)
FT: FIF TS @ [RVTIER I i §T F )

WE-&

T4 we = 3 oo & s B (TH T
500 I3 H) : 2x20=40

1. U gdta srefoqaeen =t o fagwad €2 wmifss
$qare & SITH HI ATYRON 1 AR faa=A
gl

2. T fova g3 & S &t 89 9USF & i SR
FN Y ? WIUF A 39 g i 31afY & @l 1 fadiaT
for werR e ?
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3. USRM-USM & TER 31eq famfaa 29l & wwe
Hfifqra fohey = €2 oc fokfaa 29?9 T
HifaeTa Yema | € ?

4. ‘g’ a9 oy’ F E qun S Wi = ey B2
S-aRfY *1 gaare dmel adn oAl ®9 4 fFa
YR feranfaa o S 8 7 39 fafeard s €2

WE -G

e Tor=gi it ol o SR 250 Vsl (wereh) H ife |
3x10=30
5. Hd MEINH % Uel acd T E 7 SESH S oSk

R foarg &1 gaq & guiF H )

6. Tr=fafEa vt 1 afkenfya # -
() Y& fafma =R S
(b) Twha fafma =R o -
(c) ™ AR W

7. UG @Il i GEEdl @ afaw wiest s st
i =T |

8. Il SaaTE F & ?

9. g Yd Tafy H T TR gRI AT ol Hiedfed
FHA B 1 3UF R T & ?
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